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Subtracting without Regrouping Name:
Solve each problem. Answers
1.
1) 417 2 3,473 3 73 4 837
-104 -2,230 -50 - 215 2
3.
4
5 6,159 6) 55 7 157 8 7,193 >
-4,042 -12 - 30 -4,041 6
7.
8.
9 47 100 131 11) 7,141 12) 89 9.
- 4 - 10 - 3,020 - 24
— — — — 10.
11,
12,
13) 632 14) 1,156 15 34 16) 616 13.
- 301 - 35 -22 - 503
- - - o 14.
15.
16.
17) 7,722 18) 44 19 692 20 3,656 .
- 6,500 -32 - 230 -1,103
18,
19,
20
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 313
1) 417 2 3,473 3 73 4 837
- 104 -2.230 - 50 - 215 , 1243
313 1,243 23 622
3, 23
4 622
5 6,159 6) 55 7 157 8 7.193 > 2117
- 4,042 -12 - 30 - 4,041 . 43
2.117 43 127 3,152
- 127
8 3152
9 47 100 131 11) 7,141 12) g9 9 43
- 4 - 10 -3.020 - 24 191
43 121 4121 65 10
1 4121
12, 65
13) 632 14) 1,156 15) 34 16) 616 13, 331
- 301 - 35 - 22 - 503
331 1121 12 113 w1121
15. 12
16. 113
1) 7.722 18) 44 19) 692 20) 3,656 o 1222
- 6,500 -32 - 230 -1,103
1,222 12 462 2,553 18, 12
19. 462
0. 2553
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
313 4121 3152 23
43 43 2117 121 1.
65 622 127 1243
2.
1) 417 2 3,473 3 73 4) 837 3.
-104 - 2,230 -50 - 215
— I — — 4,
5.
6.
7.
8.
5 6,159 6) 55 ) 157 8 7,193 0,
-4,042 -12 - 30 -4,041
- - - - 10.
11.
12.
9 47 100 131 1) 7,141 12) 89
- 4 - 10 - 3,020 - 24
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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